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PART A : GENERAL INTELLIGENCE AND REASONING

One morning, Rita started to walk toward the
sun. After walking a while, she turned to her
left and again to her left. After walking a
while, she again turned right. Which
direction i& she facing now ?

(A) East (B) West
{C) North (D) South
Seleet the correct  combination  of

mathematical signs to replace = signs and to
balance the following equation :

Bx8=1=«7T=8

(A) x++ (B) ++%x

(C) 5 x + D} +x+

Some equations are solved on the basis of a
certain system. Find the correct amswer for
the unsolved equation on that basis.

ETE = 366, 567 =255, 946'=7
4

(A) 334 (B) 499

(C) 689 (D) 634

Select- the missing nurober from the given
responses,

25 4916 .
36, Bl 64
11 16 _?
(A) 12 (B) 20
(©) 18 (D) 18

&

Which one of the given responses would be a
meaningful order of the following ?

1. Weaving 2. Cotton
3. Cloth 4, Thread
(A) 2,4,1,3 (B} 2,4,3,1
(C) 4,2,1,3 (D)8,1.4,2

Directions : In questions nn, 6 and 7, a series is
given, with one term anissing.” Choose the correct
alternative from the Ziven ones that will complete
the series.

6.

10.

{C) Mother

0,3,815. 24, ? 48

(A) 11 (B) 29
(©) 37 (D) 35
AC, FH, KM, PR, ? -

(A) UX (B} TV
(C) UW D) VW

From the given alternatives select the word
which cannof be formed using the letters of
the given word.

PORTFOLIO
(A) RIFT (B) ROOF
(C) FORT (D) PORTICO

In a coded language, BRINJAL is written as
LAJNIRB. How will LADYFINGER be
written in that code ?

(A) RNEGIFYDAL

(B) RINEGIFYDAL -

(C) REGNIFYDAL

(D) RGENIFYDAL

Introducing Asha to guests, Bhaskar said,

“Her father is the only son of my father.” How
is Asha relﬂted_tn Bhaskar ?

(A) Niece (B) Grand-daughter
(D) Daughter

CU 2013/Page 2
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Directions ; In guestions no. 11 to 14, select the
related  word/letters/number from the given
alternatives.

11. Plant:Seed:: ? :Bud

(A) Leaf
(C) Flower

(B) Twig
(D) Fruit

12, BFG EL} (iRVW: 2

-

(A) UWY B) UYZ
(C) SWX (Dy QUV
13. 8:56::9: 7
(A) 10 (B} 63
Cy 7 (D) 9
14. Magazine : Editor : : Drama:_?
(A) Director (B) Player
(C) Manager (D) Actor

Directions : In questions no. 15t 17, seléct the one
which is different from the other three alternatives.

16, (A) I';JJL (B) RUVX
"y
(C) DGHJ (D) NPQS
Ny ,
16. (A) 8-11 (B) 1-4
) 7-10 (D) 3-5
17. (A) Quran (B) Gita
(C) Panchsheel (D) Bible

@ Five friends ‘P, ‘@, ‘R’, ‘S’ and “T" are sitting

in a row facing North. Here ‘8’ is between T
and 'Q" and ‘Q’ is to the immediate left of ‘R’
‘P’ is to the immediate left of 'T". Who is in the
middle ?

(A) § (By T

) Q (I R

Two statements are givén followed by two
conclusions 1 and IL You have to consider the
statements to be true, even if they seem to be
at varance from commonly known facts. You
are to detide which of the given conclusions
definitely follows from the given statements,
Indi¢ate your answer.

Stafements

All crows are birds,

All peacocks are crows,
Conclusions :
1. All peacocks are birds.
II. All birds are peacocks.

(A) Both conclusions I and 1T follow
(B)
(C)

(D)

Neither conclusion [ nor I follows
Only conclusion 1 follows
Only conclusion 11 follows

Identify the diagram that best represents the

~ relationship among the classes given below :

Police, Thief, Criminal

® |00 |G| B
(A) (B) (C) (D)

CU 2013/Page 4
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21. A piece of paper 1s [olded and cul as shown A word 1s represented by only one set of

below in the question figures. From the given numbers as given in any one of the
answer figures, indicate how it will appear alternatives. The sets of numbers given in the
when opened. alternatives are represented by two classes of
Question figures : alphabets as in the two matrices given: below.
T P : v eut The columns and rows of Matrix 1 are

4 B numbered from 0 to 4 and that of Matrix I1

3 T are numbered from 5 to 9. Alletter from these

matrices can be represented first by its row
and next by its colymn;, eg., E can be

SRBRGT fagin.; represented by 00, 13, 32, etc., and 'S’ can be

2 I N A N represented by 55, 76, 8%, ete, Similarly, vou
@:D have to identify. the set for the word given

RV 7 B SN N PV below :

(A) (B () (D) o
Matrix 1 Matrix 11

22, Which answer figure will complete the 0414231 4 5(6|7|8|9
;atte;nn; the question figure ? olElAlRIWIP s1s|BIKIT|C
uestion figure ; 1iwirlAlEIR 6|B|ICIT|IK|S
2LAIW|P|R|E TIT|S|C|BlK
3| PIR|E|A{W B|K|T|S|C|B
4|RIE|]W|P|A 9|CIK|B[S|T

(A) 65, 33, 40, 86
(B) 66, 12, 40, 58

@ ﬂ (C) 88,44, 31, 89
(D) 59, 20, 32, 89

25. [If a mirror iz placed on the lhine MN, then

Al (B Ay ) ‘which of the answer figures is the right image
of the given fgure ?
23. From the given answer  figures, select .
the one in which the question figure is Question figure :
hidden/embedded. M

Guestion figure ;

17 ' &

N
Answer figures : Answer figures ;
A O =}
Hy| &%
(A) (B) D
" i (A) (B) (C) (D)

CU 2013/Page 6 SPACE FOR ROUGH WORK / % % & for 7am



20.

21.

www.eenadupratibha.net
FOR VISUALLY HANDICAPPED CANDIDATES ONLY

Which one set of letters when sequentially
placed at the gaps in the given letter series
shall complete it ?

bababa

a_ _baa

—

(A) a,a,a, a8

(B) a,a,a,a,b
{C) a,.a,baa

(D) a,b,ab.a

Arrange the following words as per the order
in the dictionary :

1. Institution 2. Instigation

3.  Inspiration 4. Installation

(A) 2,3,4,1
(B) 3,4,1,2
(C) 4,3,2,1
(I 3,4,2,1

Given below are capital letters in the first line
and numbers in the second lme, Numbers and
letters are codes for each other. Choose the
correct code for the given letters,

G W P
1 0

E KL J FZX
3 4 6 2 5 7 8 9
Given létters : GEWPFJ

(A) 213075

(B) 231075

(C) 1238075

(D) 213750

23.

24,

Gopal is taller than Rakesh. Rakesh is taller
than Jay. Bappa is taller than Gapal, but
shorter than Naresh. Who is the talest ?

(A) Jay
(B) Naresh
(C) Bappa

(D} Gopal

A'ia-3 vears older to B and 3 vears vounger 1
C, while B and D are twins. How many vears
olderisCto D ?

(A 2 vears
(B) 12 years

(C) 3 years

(D)} 6 years

Find out the set among the four sets which is
like the given set of numbers.

36, 18,9

w |

(A) 11,22, 33
(B) 8,4,2

N b
(C) 42,21,7

(D) 31,13,9

CU 2013/Page 8
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26.

27.

28,

30.

a1.

32.

34,

CU 2013/Page 10
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PART B : NUMERICAL APTITUDE

If the loss on an article is 5% and its cost
price is ¥ 90, find the selling price,

(A} ¥ 9560 (B} ¥ 85-50

(C) T 86 D) ¥ 95

A defective T.V. costing T 5,000 iz being sold
at a loss of 50%. If the price is further
reduced by 50%, then its selling price is

(A) ¥ 1235 (B) ¥ 1,250

(C) ¥ 1,025 (D) & 1,200

A grocer buys 10 dozens of eggs at ¥ 18 per
dozen from the wholesale market, Out of
these, 10 eggs were found broken and had to
be thrown away. At what price per egg should
he sell them so as to make a profit of 10%, if
he spent ¥ 24 on transportation ?

(A) T 2:00 (B) T 2-26

(Cl T 240 (i T 2-50

The length of a rectangle is increased by 40%
and its breadth decreased by 30%. The
change in the area of the rectangle is

(A) 2% increase (B) 2% decrease

(C) 10% increase (I} 10% decrease

A businessman marks hiz goods at such price
that after allowing a discount of 15%, he
makes a profit of 20%. The marked price (in
#) of an article having cost price ¥ 170 is

(A) 236 (B) 220

(C) 240 (D) 204

The least ratio among 10 : 18, 7: 21, 12 16,
8:20 is

(A) 12:16 (BY &:20

(C) 10:18 () 7:21

If x be the mean proportion between (x — 2)
and (x = 3), then the value of x ia

(A) B (B) . 5

(C) 6f5 (DY &fé

The ratio of the number of boys and girls in a
Government aided schonl 15 3 @ 2. 20% of the
boys and 25% of the girls are not scholarship
holders. The percentage of students who are

scholarship holdersis.

(A) T0% (B) 48%

(C) 60% (D) 78%

The average-of 10, 12, 16, 20, p and 26 is 17.
Find the value of p.

(A) 17 (B) 18

(Cy-15 (D) 18

A wmotor-cycle covers 40 km with a speed
of 20 km/hr. Find the speed of the motor-cycle
for the next 40 km journey so that the

tamage speed of the whole journey will be

30 km/hr.
(A) 70 km/hr (B) 52:5 km/hr
(C) 60 km/hr (D) 605 km/hr

36,

37,

a8,

39,

41.

(A} 20days

If the ratio of the areas of two sguares is 1 4,
the ratio of their perimeters is

(A) 1:6 (B) 1:8

(C) 1:2 (D) 1:4

Perimeter of a triangle is 24 metres and
circumference of its incircle is 44 metres. Find
the area of the triangle.

(A) 42 metres® (BY 24 metres®

(C) 48 metres® (Pr 54 rl't€l:’31:'1_"Es2

Find the rate of disetimt when marked price
i5 ¥ 250 and selhog price is T 235.

(A) 60% (B} 70%

(C) 6-b% (D) B0

The list price of &' watch is ¥ 160, After two
syecestive diseounts, it is sold for T 122-40. If

the first discount is 10%, what is the rate of
the second discount ?

(A} 13% (B) 18%
(). 16% (D) 156%
H.C.F. of the reciprocals of the fractions
g 9 15 .
~, — and — 18
. 10 16
3 3
(A) — B) —
15 = 80
1 2
et )
(C) T () T

What should come in place of the guestion
mark (7) in the following question ?

3175 & 312 317% = ({31)’
(A} 9f2 (B) 8
(Cy 72 (D) 4

30. men can produce 1500 units in 24 days
working 6 hours a day. In how many days,
can 18 men- produce 1800 units working
8 hours a day ?

(A) 18 days (B) 32 days

(C) 36 days (D) 45days

4 men and 6 children can complete a work in
8 days while 3 men and 7 children can
complete the same work in 10 days. If
20 children only work, the work will be
completed in

(B) 22 days

(C) 15 days (D) 18 days

SPACE FOR ROUGH WORK, / % F/ % i m=m
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If & sum of money at simple interest doubles
in 5 vears, it will become 4 times in how
MAany years ?

(A} 18 (B) 16

(C} 15 (D} 20 :

If the discount sales reduce from 3*% to

33'1- what difference does il mall:{l' Lﬂ

purchases for T 12,1027

Ay € 2017 (B) T 16-35

(C} ¥ 15-35 (D} ¥ 1735

A bus can complete a journey in 12 hours. The
first half is completed at 22 km/hr and the
second half at 26 km/hr. Find the distance.
(A) 280 km (B) 284 km

(C) 286 km (D) 288 km

A man takes 8 hours 30 minutes in walking to
a certain place and riding back. He would
have gained 2 hours 10 minutes by riding
both ways. How long would he take to walk
both ways ?

(A) 8 hours 20 minutes

(B) 4 hours 10 minutes

(C) 8 hours 40 minutes

(D} 4 hours 20 minutes

A certain sum of money becomes ¥ 2,250 at
the end of 2 years and becomes T 2,625 at the
end of 5 years. If the person receives only
simple interest, then the rate of interest is

(A) 6:25% (B) 5%

(D) 65%

The line graph below shows the mumber of
houses sold each month by a real estate agent
for the first six months of the year. Between
which two months did sales increase the
most ?

Real Estate Sales
11

Hh:hmrh

h'._ = MNumbar

> X
ﬂl Jan Feb Mar ﬂ.pr Maydun

€——— Months ——>

(A} Apn.! May (B) May — June
(C) January — February (D) March — April

BO.

The pie-diagram shows the expenditure
incurred on the preparation of a book by a
publisher, under various heads.

A. Paper 20%

B. Printing 25%

C. Binding ete., 30%
D. Miscellaneous 10%
E. Royalty 15%

Which two expenditures together will form an
angle of 108° at the centre of the diagram ?

(B) Dand E
(D) Band E

(A) Aand D
(C) Aand E

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

49,

50.

A and B start at the same time from P and @
EEEkmapart}thandPntﬂaudE% km an

hour respectively, meet at R, reach @ and P,
return immediately and meet again at S. The

distance from R to S, in km, is
(A) 11 (B) 9
(C) 8 (D) 10

If 12 men will complete a work in 20 days,
then 8 persons will complete the same work'
in

(A) 35 days
(C) 30days

(B) 40 days
(D) 26 days

CuU 2013/Page 12
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PART C : GENERAL ENGLISH

Directions : In questions no. 51 to 60, sentences are
given with blanks to be filled in with an appropriale
word(s). Four alternatives are suggested for each
guestion. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
oval (@) in the Answer Sheel.

51. He does not any fixed principle.

(A) go through (B) go about
(C} go with (D) go upon
52. My finger is still i where |
caught it in the door yesterday.
(A) broken (B) wounded
(C) bruised (D) injured
53. A trader was at the city airport
early on Thursday for carrying gold jewellery
worth over T 1 crore.
(A) hindered (B) detained
(C) retainel (D) blocked
54. A book's a book there is nothing
in it.
(A) because (B) unless
(C) till (D) although
55, knocking at the gate, he demanded
admission.
(A} Cruelly (B) Kindly
(C) Speedily (D) Loudly
66, 1 the job if you had paid me enough.
(A) would have done
(B) had done
(C) will do
(D) would do
57. As soon as he got the telegram, he
in a taxi.
(A} would have left (B) left
(C) hadleft (D) has left
58. We had difficulty finding a
parking place.
(A) at (B) about
(C) in (D) for
59. The peasant rebellion was with a
high hand by the Emperor,
(A) put off (B) put away
(C)} put back (D) put down

CU 2013/Page 14

60. That car 15 throwing _ a lot of
smoke.
(A} out (B} up
(C) away (D) in
Directions : In questions no. 61 to 63, eut.of the
four alternatives, choose the one witich best

expresses the meaning of the given word and mark it
in the Answer Sheet.

61. Flung

(A} Threw (B) - Caught

(C) Cast (D) Spat
62. Encountered

(A) Faged (B) Enlveﬂ

(C) Entered (D) Entertained
63. Redeem

(A} Punish (B) Bave

(G} Forget (D) Forgive

Directions : In questions no. 64 to 66, choose the
word’ opposite in meaning lo the given word and
mark it in the Answer Sheet.

64. Encouraged

(A) Opposed (B) Mugged

(C)} Supported (D) Dispirited
65. Revoke

(A) Negate (B) Annul

(C) Invalidate (D) Implement
66. Calculative

(A) Naive (B) Gentle

(C} Docile (D) Careful

Directions : In questions no. 67 lo 69, four
alternatives are given for the Idiom/Phrase
underlined in the sentence. Choose the alternative
that best expresses the meaning of the Idiom/Phrase
and mark it in the Answer Sheet.

67. 1 have recently changed my job and I am
going to have teething problems.
(A) difficulties at the start
(B) difficulties at the end
(C} difficulties all the time
(D} problem with my teeth
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88. The soldiers fought tooth and nail to save
their country.
(A) using unfair means
(B) with strength and fury
(C) with weapons
(D) as best as they could
69. Chetan is very upset because the new
manager always picks on him,
(A) advises {B) warns severely
() zelects (D) treats badly
Directions In  questions no. 70 o 74,

a part of the sentence is underlined. Below are given
alternatives to the wunderlined part al (A), (B
and (C) whieh may improve the gentence. Chooge
the correct alternative. In case no improvement is
needed your anstwer is (D). Mark your answer in the
Answer Sheel.

70. The carpenter has been given a rouline to

finish his job.
lA) framework

(C) limitation

(B) deadline
(D) No improvement

71. The labourers are bent at getting what is due

to them.

(A} bent for

(B) bent upon

(C} bent in

(D) No improvement !

Although the goal-keeper was responsible for

the defeat in the important football match,
nobody blamed him.

(A) still nobody blamed him

(B) nevertheless nobody blamed him
(C) yet nobody blamed him

(D) No imprevement

The children found the story funny.
(A) humorous  (B) bad
(C) ridiculous (D) No improvement

The eattle are fed on barley and grass,
(A} cattles are fed

(B) cattles are feeding

{C) cattleisfed

(D) No improvement

CU 2013/Page 15

4.

Directions : In questions no. 75 to 79, out of the
four alternatives, choose the one which can be
substituted for the given worgs/sentence and
indicate it by blackening the appropriale opol (W)
in the Answer Sheel,

73. Liable to be easily broken.
(A} Translucent (B) Britue
{C) Unheaithy (D) Opague

A room or building for the preservation of
plants.

(A) Plantation (B) Farmyard
(C) Greenhouse (1)) Plantain
A large numbgr of fish swimming together

6.

(A) Troupe (B) Swarm
(C) Lilter (D) Shoal
78. A lifbofl things to be discussed at a meeting,
(A) Minutes (B) Issues
(Y. Agenda (D) Data
79.. A figure with many angles or sides.
{A) Hexagon (B) Octagon
() Polygon (D) Pentagon

Directions : In questions no. 80 to 85, four words
are given in each question, oul of which only one
word s correctly spelt, Find the correctly spell word
and mark your answer in the Answer Sheet.

80. (A) Embarassment
(B) Embarasment
(C) Emmbarrassment
(D) Embarrassment
81. (A) Perseverence (B) Perseverance
(C) Parseverance (D) Paraiyermna
82. (A) Inntelligence  (B) Intelegence
(C) Intelligence (D) Intellegence
83. (A) Afilliate (B) Affilliate
(C) Afilaite (D) Affiliate
84. (A) Accommodation (B} Accommdation
(C) Acommeodation (D) Accomodation
85. (A) Consentious (B) Conscientious
(C) Concientious (D) Conscentious
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Directions : In questions no. 86 to 90, you have a
brief passage with 5 questions. Read the passage
carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval (W) in the Answer
Sheet.

Onee upon a time, a businessman named Ray
Kroe discovered a restaurant owned by two
brothers. The restaurant served just four things:
hamburgers, French fries, milk shakes and coca
cola. Bul it was clean and inexpensive, and the
service was quick. Mr. Kroc liked it so much that he -
paid the brothers so that he could use their idea
and their name: McDonald's.

Beef, big business and fast service were the
ingredients when Mr. Kroc opened hiz first
McDonald's in 1955, Four years leter, there were
100 of them, Kroe knew Americans liked success. So
he put signs saying how many millions of
MecDonald’s hamburgers people had bought, In just
four years, the number was one hundred million.
Now, there are more than 13,000 McDonald’s
restaurants from Dallas to Paris and from Mescow
to Beijing.

Anyone who wants to open a MeDonald's
must first work in one for a week. Then, they do a
nine-month training programme, in the restaurants
and at “McDonald’s University” in Chicago. There
they learn the McDonald’s philosophy: quality
control, service, cleanliness and cheap prices.
McDonald’s has strict rules, Hamburgers must be
served before they are ten minutes old, and French
fries, seven.

McDonald’s has never stopped looking for
new methods to attract customers, from drive-in
windows to birthday parties. Chicken, fish, salad
and, in some places, pizza are now on the menu,
McDonald’s in Holland even sells a vegetarian
burger. Their international popularity shows they
have found the recipe for success.
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How did putting up signs of his success in
America help Mr. Kroc ?

(A) People could work in the outlets for a

week
(B)
(C)
(D}

People could apply for jobs
Children would visit the outlets more

Americans would encourage him and buy
more hamburgers

What made the restaurant popular ?
(A) The servers were kind

(B) The ingredients used were genuine
(C) It was owned by two brothers

(D) Itwas¢lean and inexpensive

What is McDonald’s philosophy ?

(A) Quality control, service, cleanliness and
high prices

(B} Quality control, cleanliness and cheap
prices:

(C) Quality eontrol, service and cheap prices

(D) Quality control, service, c]eanhnesa and
cheap prices

Who is McDonald's named after ?

(A) Two brothers unrelated to Mr. Kroc

(B) Two brothers related to Mr. Kroc

(C) Mr. Kroc's two sons

(D) Mr. Kroc¢'s two brothers

Which statement is false ?

(A) MecDonald's is not innovative in thm:
methods.

(B) McDonald's is both a dﬂmeshc aﬁt
international food chain.

(C) McDonald’s is a rapidly growing foo
chain.

(D) McDonald’s is
restaurant, '

not a mult
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Directions : {n questions no. 91 to 100, some parts of the sentences have errors and some are correct. Find
out which part of a sentence has an error and blacken the oval (@) corresponding to the appropricie letter
(A, B, C), If a sentence is free from error, blacken the oval corresponding to (D) in the Answer Sheet,

91. There 1s no agreement / between you and [/ so we are free to go our way. / No error.
(A) (B) (C) (1)

92, His father would / rather die than / to beg from door to door. / No error,
(A) (B (C] (D)

93, Heis guilty / for killing / an innocent bird. / No error.
(A) (B) (C) (D)

84. Ihave just come / to know that Mr, Ray, one of my favourite [ teachers, died with cancer recently. /
(A) (B) ()

No error,
(D)

95. Many persons must have read / ‘The Arabian Nights', / which is very interesting. / No error.
(A) (B) (Ch ()

96. We should make green vegetables [ an essential part of our daily diet, / shouldn't we 7/ No error.
(A} (B} (C) (D)

97. He has promised / to pay me the whole amount / in cheque with the stipulated time. / No error.
(A) (B) (C) (D}

98, We must have/sympathy for / needy and the poor. / No error.
(A) (B) (C) (D)

99. When I left/ the house at 9 o'clock / my son was still at home. / No error.
(A) (B) (C) (I

100. [ did not receive / any letter from my parents / for the last two months, / No error.
(A) (B) (C) ()
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PART D : GENERAL AWARENESS

The film which won the Audience Award at
the Locarno Film Festival in Switzerland is

(A) Nayak (B} Lagaan

iCY Yaadein (DY I Chahta Hat
Which of the following is the
characteristic of a living organism ?
{A) Ability to breathe

(B} Ability to reproduce

(C1 Ability to move

(D) Ability to eat

basic

Radioactivity was discovered by

iA) Rutherford (B} Henri Becguerel
L) Reentgen (D) Hinstein
Myopia 15 a disease connected with

(A} Lungs (B} Brain

(C) Ears (D) Eyes

Lok Sabha and Rajya Sabha had passed the
Lokpal Bill with more strong amendments in

(Al 2012 (B} 2013
(C) 2009 (D) 2011

How many assembly segments are there as
per Vidhan Sabha Elections 2013 in Dethi ?

(A) 70 (B) 72

\C) 66 (D) 68

Jim Corbett National Park is situated in
(A) Uttarakhand

(B) Andhra Pradesh

(C) Madhya Pradesh

(D) Himachal Pradesh

Who was the founder of ‘Ghadar Party’ ?
(A} Sachindranath Sanyal

(B} Chandrashekhar Azad

(C) Lala Har Dayal

(D) Batukeshwar Duit

Socialism is essentially a movement of
(A} intellectuals

(B} the poor people

{C). the middle classes

(D) the workers
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The open “Sigrees” or coal stoves often
require fanning to sustain burning becayse of

{A) tendency of carbon dioxide to form a
layer along with dust smoke

(B) lack of oxygen in the swrroundings of
SIgrecs

{C) accumulation of smoke and dust over the
S1gTEEs

(D} interrupted release of moisture from the
material

Green house effect is the heating up of the

Farth's atmospherewhich is due to
(A) theawltravidlet ravs

(B} r-rays

(C) the itfra-red rayvs

(D) X-rays

- Brown g of paper in old books is caused by

(A} frequent use

(Bl lack of aeration

(C) collection of dust

D) exidation of cellulose
Who was
Gandhi 7
(A) Mir Karzai (B} Nelson Mandela
(C) Firoz Gandhi (D) M.E. Gandhi
Aquaregia is a mixture of the following in the
ratio 1 : 3 by volume

(A} conc. HNOg and cone. HC]

(B} cone. HNOg4 and cone. Ho80),

(C) dil. HCI and dil. HNO4

() conc. HCI and cone. HNO,

In deep-sea diving, divers use a mixture of
gases consisting of oxygen and

(A} hydrogen (B) nitrogen

(C) argon (D) helium

Which one of the following terms describes

not only the physical space occupied by an
organism, but also its functional role in the

popularly known as Africa’s

community of organisms ?
(A) Eco-niche (B) Ecosystem
(C) Ecozone (D) - Hahitat
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Name the body which has replaced the U.N.
Commission on Human Rights.

(A} Secretariat

{B) Human Rights Council

(C) Trusteeship Council

(D) Economic and Social Council

When was the first Central Legislative

Assembly constituted ?

(A) 1922 (B} 1923

(C) 1921 (D) 1920

Who passed the Indian Universities Act 7
(A} Lord Lytton iB) Lord Curzon
\C} Lord Minto (D) Lord Ripon

Name the Indian king who warmly received
the Portuguese traveller Vasco da Gama
when he landed at Calicut.

(A} Asal Jah Ismail Mulk
(B) Devarava

(C) Zamorin

(D) Krishnadevaraya

The Great Wall of China was built by
(A} Li-tai-pu (B) Shih Huang-ti
(C) Lao-tze (D) Confucius

The saviour of the Delhi Sultanate was
(A) Qutub-ud-din Aibak

(B) Minas-us-Siraj

(C) Mtutmish

(D} Ghias-ud-din Balban

Sriperumbudur iz the birthplace of
(A) Sri Madhvacharya

(B) Sri Basavanna

(C) Sri Shankaracharya

(D) Sri Ramanujacharya

. The easternmost peak of the Himalayas is

(A) Namrha Barwa (B) Annapurna
(C) Kanchenjunga (D) Mount Everest

Which of the following is nof a notable
industrial city ?
(A) Kanpur

(C) Jamshedpur

(B) Mumbai
(D) Allahabad
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An economy which does not have any relation
with the rest of the world is known as

(A) Socialist economy
(B} Closed economy
(C) Open economy
(D} Mixed economy

In which State is the literacy rate of women
the highest ?

(Al Kerala
(C) Tamil Nadu

(Bi_Maharashtra
0 West Bengal

Which of the following economists is called
the Father of Econdmics ?
(A) Malthus (R}
(C) Ricardn (D) Adam Smith

Robinson

Returns to scale iz a

(A} timeless phenomenon
(B directionless phenomenon
()} short-run phenomenon
(D). long-run phenomenon

Rent is a factor payment paid to
(Al land (B) restaurant
(C) building (D} factory

Name the two non-permanent Houses in the
Parliamentary set-up of India.

(A) The Rajya Sabha and Vidhan Sabha
(B) The Lok Sabha and Vidhan Parishad
(C) The Rajya Sabha and Vidhan Panshad
(D) The Lok Sabha and Vidhan Sabha

132. The Mandal Commission Report refers to

133,

(A) the Other Backward Classes
(B) the Scheduled Tribes

(C) the Minorities

(D) the Scheduled Castes

How many Fundamental Rights were granted

initially ?
(A) Six (B) Seven
(C) Four (D) Five
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‘Atomic theory’ of matier was given by
(A) Avogadro (B) Dalton
(C) Newton (D) Pascal

The weight of 2 body acts through the centre
of

(A) gravity
(B) mass
iy hoth (A) and (B)

(D} buovancy

A wheel-barrow is an example of
{A) class Il lever (B) pulley system

(C) elass [ lever (D} class IT lever

CEM in the context of software applications
means

IA) Cuostomer’s Helatives Meet

(B} Channel Route Market

(C) Customer Relationship Management
(D} Customer Retention Manager

A Supercomputer would be used for which
one of the following applications ?

(A) Business Computing

(B) Desktop Publishing

(C) Weather Forecasting

(D) Computer Aided Designing

How many types of recipients are there in an
e-mail system ?

(A} Three (BY Four

{C) One (D) - Two

Combustion of a candle 18 a/an
(A) photochemical reaction
(B) physieal change

(C) endothermic reaction

(D) exothermic reaction

Which among the following is a covalent
compound ?

(A} Caleium chloride

(B) Magnesium fluoride

(C) Sodium chloride

(D) Carbon tetrachloride
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‘A Iron

{C) Nereis

In & poultry umt, the factor most influencing
the cost is the cost of '

(A} feed
() chicks

(B) transportation

(D) medicines

Which one of the following rivers flows
between Vindhya-Satpura ranges 7

(A) Chambal (B) Ken
(C) Godavari (D), Narmsda
The highest volume of ‘gases in lower

atmosphere is comprized of

(A} Hydrogen (B} Carbon dioxide
(C) Oxygen (D) Nitrogen
de Vries proposed

(A) Thebry of Speciation

(B) Theory of Crossing over

(C) Theory of Natural Selection

(1) Theory of Mutation

Haemoglobin in the blood is a complex protein
rich'in

(B) Silver

(G} Copper (D) Gold

Vitamin C is also known as

(A) Amino acid (B) Ascorbic acid

(C) Acetic acid (D} Azelaic acid
Which of the following i= not a stem
modification ?

(A} Bulb of Onion

(B) Corm of Arvi

(C) Tuber of Sweet-potato

(D} Tuber of Potato

Clitellum is found in
(A) Leech (B) Snail

(D) Earthworm

Clouds float in the atimosphere because of
their -

(A) low pressure

(B) low density

(C) low viscogity

(D) low temperature



